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Sample Paper – 2010

Class – XII

Subject – Mathematics
General Instructions:

1. All questions are compulsory

2. This question paper consists of 29 questions divided  into  three  sections A, B and C. Section A comprises of 10 questions of one mark each, section B comprises of 12 questions of four marks each and section C comprises of 07 questions of six marks each

3. All questions in Section A are  to  be answered in one word, one sentence or as per the exact requirement of the question

4. There is no overall choice.  However, internal  choice  has  been  provided  in  04 questions of  four  marks  each  and  02  questions  of six marks each. You have to attempt only one of the alternatives in all such questions.

5. Use of calculators is not permitted. You may ask for logarithmic tables, if required

SECTION A

1) If f:
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 be given by f(x) = x2 + 3 and g(x) = 
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2) Evaluate cos
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3) If A=  
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 and A2 – A + I = 0, then find the inverse of A   




 4) If f(x) = 
[image: image5.wmf]9

5

2

2

+

-

x

x

, then for a square matrix A , write f ( A ) .     

 5) If A is a non singular matrix of order 3
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 6) What is the angle between vectors [image: image9.png]
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7) Write the distance of a plane 2x + 3y + 4z = 9 from the origin.

8) Evaluate 
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9) Find the value of 
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10) Find the slope of normal to the parabola 
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SECTION B

11) Show that the function 
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defined by 
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     function. Also find the inverse of ‘f ’.

12)  
[image: image21.wmf]2

sin

2

)

1

(

:

1

1

P

=

-

-

-

-

x

x

Sin

x

for

Solve


13) 
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    Prove that  
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14) If
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15) If y = 
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       Find 
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16) Using differentials find the approximate value of 
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17) Evaluate 
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18) Evaluate
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     Evaluate
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19) Evaluate    [image: image32.png]



20) Find a unit vector perpendicular to the vectors 
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21) Find the vector and the cartesian equations of the line through the point (5, 2, – 4) and       

        which is parallel to the vector 3i +2j -8k .
22) Two cards are drawn successively, without replacement, from a well shuffled pack of  

       52 cards. Find the probability distribution of number spades.

OR
      The probabilities of A,B and C solving a problem are 1/2,1/3 and 1/4  respectively. If   

      the problem is attempted by all simultaneously, find the probability of exactly one of 

      them solving it.

SECTION C

23) A and B throw a die alternatively till one of them gets a ‘6’ and wins the game. Find      

        their respective probabilities of winning, if A starts first.
24) There are two factories located one at place P and the other at place Q. From these  

       locations, a certain commodity is to be delivered to each of the three depots situated 
       at A, B and C. The weekly requirements of the depots are respectively 5, 5 and 4 
       units of the commodity while the production capacity of the factories at P and Q are 
       respectively 8 and 6 units. The cost of transportation per unit is given below:
                    [image: image39.png]From/To Cost (In Rs)
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    How many units should be transported from each factory to each depot in order that

    the transportation cost is minimum. What will be the minimum transportation cost
OR

   A manufacturer has three machines I, IIand III installed in his factory. Machines I and   

   II are capable of being operated for at most 12 hours whereas machine III must be  

   operated for atleast 5 hours a day. She produces only two items M and N each requiring 
   the use of all the three machines. The number of hours required for producing 1 unit of 
   each of M and N on the three machines are given in the following table:
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   She makes a profit of Rs 600 and Rs 400 on items M and N respectively. How many

  of each item should she produce so as to maximise her profit assuming that she can sell

       all the items that she produced? What will be the maximum profit?
25) Find the point on the line 
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 at a distance 3
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 from the point 

   ( 1,2,3 ) .Also find eq. of  line  of distance .

OR

    Find the distance of the point ( -2,3,-4) from the line     
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,measured parallel to the plane 4x + 12 y -3z + 1 = 0                                         

26) Show that the differential equation (x – y)
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27) Find the area of the region bounded by the curve y = 
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 and the line y = 4.

28) Solve the system of equations by matrix method
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29) Manufacturer can sell x items at a price of rupees [image: image47.png]


each. The cost price of x      

       items is Rs [image: image48.png](2 50u]
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Find the number of items he should sell to earn maximum              

       profit.
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